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OcHoBHbIE 3JIeMeHTaApHbIe PYHKUMHU

Ecin Yy = f(u) u=

NPOU3BOIHAS CJI0KHON PYHKUMHU

CD(X),TO Y=Yy U,

X"

Ecmn Y = f(x), o dy= f'(x)dx -

auddepenunan QyHKUUA

1. (C)' =0; C-nocmoannas. 1 (x”)' — N (ua)' —autu, 1.d(x“): o - x“dx
’ ' ’ dx
u . 1d -
“(‘/;) 11 (\/U) “odu - (\/;) 2x
' 1 dx
(1j (1} u' 12 d(—]— —;
T T2 12| = === x x
X X u u
’ ' ' dx
S (log, x) = log, u) =— “d(log, x)= —%,
(x) 2. (log, x) = Ina 2. (log, u) — 2. d(log, x) =
2.1 (Inx)'z1 21 (Inu) =< 21 d(Inx)= dx
X u x

3. (U+V—0) =U'+V -

3.(ax)' =a*-Ina,

!

31 (ex) =e*

3.(a“), =a’-Ina-u,

!

31 (e“) =e" .u’;

3.d(a"):ax -Inadx,
31 d(e’“):exdx

!

4. (u-v) =uv+uv',

41 (Cu)

’.
=C-U"; C-nocmosannas

!

4.(sinx) =cosx

!

4.(sinu) =cosu-u’;

4.d(sinx) = cosxdx

!

u u'v—uv’
5.|—| = —
v Y

!

5. (cosx) =—sinx

!

5. (cosu) =—sinu-u’;

5. d(cosx)=—sinxdx

' 1 ' u’ dx
°(t9v) cos’ x o (tgu) cos’ u o-d(tgv) cos® x
' 1 ' u’ dx
(ctgx) = 7. (ctgu) i 7. d(ctgx)_—sinzx
8 (arcsinx), = 8. (arcsinu)' S 8. d(arcsinx)= dx
1-x? 1-u? 1-x°
! 1 ' u’ dx
9. (arccosx) =- 9. (arccosu) = - 9.d(arccosx) = -
A = erecos)= -
10. (arctgx), _ 1 10. (arctgu) = u ; 10. d(arctgx) = dx
1+ x° 1+u? 1+ x?
11.(arcctgx), __1 11.(arcotgu) = - u ; 11.d (arcctgx) = — dx
1+ x° 1+u? 1+ x?




